Am I Straight?

Student Worksheet

Directions:  Fill in the chart below with the y-intercept, slope, rise and run of each equation.


Remember:  Linear equations can be in standard form.  To identify the y-intercept, slope, rise and run of these equations, you can put them in slope-intercept form.

3x + 2y = 6

           


       Step 1:
     -3x          -3x         (Subtract 3x from both sides)
  






  2y = -3x + 6




     Step 2:

   2          2        (Divide by 2 to isolate the y)







    y = -3x + 3





       Step 3:


2
     (Identify the “parts” of the equation)

             The y-intercept is 3, the slope is -3/2 which means the rise is -3 and the run is 2

	Equation
	y-intercept
	Slope
	Rise
	Run
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y = 2x + 1


2 is the slope


Remember:  The number that is multiplied by the ‘x” in the equation


From the y-intercept at (0,2), you can either go up 2, to the right 1 or down two, to the left one.














y = 2x + 1


1 is the y-intercept


Remember:  The number that stands alone in the equation
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